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M.A. (Part I) (Sem. I) EXAMINATION, 2018
ECONOMICS
EC-102 : Public Finance
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) Attempt A/l questions.
(i1) Figures to the right indicate full marks.

(717) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(/)  Discuss the role of the Government in a changing perspective
of Public Finance.

(i7) Explain the application of taxation principles in developing
countries.

2. Answer any one of the following questions in 500 words : [20]
(1)  Distinguish between impact and incidence of Taxes.

(i7) Explain the principle of social cost-benefit analysis.

3. Answer the following questions in 250 words each (any two) : [20]

(1)  Explain the concept of private goods, social goods and merit

goods.
(i7) Explain ‘Wiseman-Peacock Hypothesis’ of Public Expenditure.
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(711) Explain the methods of repayment of public debt.
(/v) What is meant by Taxable Capacity ? Explain the types of

taxable capacity.

4, Write short notes on (any four) : [20]
(1)  Fiscal functions of the Government
(i1) Principle of equity of Taxation
(717) Administrative efficiency of Taxation
(iv) Wagner’s law of public expenditure
(v)  Keynesian approaches of public debt

(vi) Public debt management.

(FEr wiav)
9% : A\ A" THUT T : 80
ol — (7)) W gv e
(i7) IAHSA FF YU O e
(i) IW TR 9 HEHS SHEIN.
(fv) UGS Heb TUSH YYAULIRT TRrEl.

1. Qia @R TRl 999" 500 ¥es[d S o [20]
(/) EESH e e dede el ==l .
(in TorgTEiad ST HAUUATEl dd TR A

2. Tl HUER Tl 9= 500 IEE W o [20]
(/) & AU YR I Wl s
(7)) Gt TE-ay fovauome 9" W &

[6304]-102 2



http://www.sppuonline.com

3. @elid Yyl S YS! 250 VeSid foel (v ae) [20]
(/) At 9, Wit 9% 9 U %] d1 Heheddl TR .
() ‘aEemA-fysie’ A= GESHe EEEl TJEde W5 H

(7i7) TESHE F9 AR Ugdl W HI.

(/v) HERI Ul WUS RE ? e UEdd YRR TR R

4, dresd 4 fasr (vt | m) [20]
(/) THREl TShEE &E

(i) HUd HHA

(f7)) HOAIAE YEHHE Rl
(fv) ofR=T Hese = e
(v) gl HESh weEl gl

(vi) WESITeh ohol  SHAEATY.

[5304]-102 3



